
Cvičeńı k p̌redmětu Matematika 101 na VŠE

4 Maticové rovnice

(Milan Petŕık, petrikm@tf.czu.cz, 15. ř́ıjna 2023)

Spočtěte matici X z maticové rovnice:

1. X ·B+ 3 ·B+ 2 ·X = 3 ·A, kde A =

(
1 −1

−1 1

)
a B =

(
3 0
5 0

)
,

2. 2 ·A+ 3 ·X = X ·A+ 6 ·B, kde A =

(
0 −2
2 1

)
a B =

(
−3 1
4 1

)
,

3. 4 ·X = B ·X+ 3 ·B+ 3 ·A, kde A =

(
−1 4
0 5

)
a B =

(
3 −1
4 −2

)
,

4. A ·X+ 2 ·A+ 6 ·B = 7 ·X, kde A =

(
5 0
1 2

)
a B =

(
−3 −1
5 −4

)
,

5. 2 ·X = B ·X+ 6 ·B+ 2 ·A, kde A =

(
3 2

−2 5

)
a B =

(
−2 −2
−1 −1

)
,

6. A ·X+ 3 ·X = 3 ·A+ 3 ·B, kde A =

(
−1 0
−1 −4

)
a B =

(
2 5

−2 −1

)
,

7. 2 ·X = A ·X+ 2 ·A+ 5 ·B, kde A =

(
5 −1
5 2

)
a B =

(
−1 2
−1 3

)
,

8. 9 ·A = X ·A+ 9 ·B+ 5 ·X, kde A =

(
0 0
0 −3

)
a B =

(
4 −1
2 −4

)
,

9. B ·X+ 2 ·B = 2 ·A+ 5 ·X, kde A =

(
−2 0
−2 −3

)
a B =

(
3 4
3 4

)
,

10. X ·B+ 5 ·A = 2 ·B+ 6 ·X, kde A =

(
−1 5
1 −2

)
a B =

(
4 2
4 −3

)
,

11. B ·X+ 2 ·B+ 9 ·A = 3 ·X, kde A =

(
2 3
0 −4

)
a B =

(
−1 −1
2 1

)
,

12. 2 ·A+ 4 ·X = A ·X+ 2 ·B, kde A =

(
4 5

−2 5

)
a B =

(
−1 0
0 1

)
.

Řešeńı:

1. X =

(
0.3 −1.5

−5.1 1.5

)

2. X =

(
−1.6 6.6
4.8 −2.8

)

3. X =

(
2.4 4.5
3.6 4.5

)

4. X =

(
−4.0 −3.0
5.6 −4.6

)

5. X =

(
0.2 −3.2

−3.4 2.4

)

6. X =

(
1.5 7.5
7.5 7.5

)

7. X =

(
−1.0 −3.8
2.0 −3.4

)

8. X =

(
−7.2 4.5
−3.6 4.5

)

9. X =

(
−5.0 −6.4
−5.0 −5.2

)

10. X =

(
−3.3 1.6
−4.3 −1.4

)

11. X =

(
2.8 8.4
4.8 −8.6

)

12. X =

(
3.0 −3.0
2.0 2.0

)


